Program #23

Effective Date: January 1, 2017 - December 25, 2017

F.O.B: Smoketown, PA & Alva, FL

## **Green Leaf - Mums & Asters**

- With 15 colors, the Igloo series makes a great starter mum program
- Igloo series is truly hardy to zone 5
- Cultural/Growing Guides available for both Mums & Asters

## Garden Mums in two styles:

- "Pull & Pack" bagged rooted cuttings; quality rooted cuttings at an economical price
- 50 strip rooted liners (1/2 of a 102 tray) for those who prefer a liner rooted in media

Item #	Tag Rule	Variety	50 strip unpinch Each	tray (DB) ned liners Tray	50 Pull & rooted Each	Pack (PNP) Cuttings Tray
23-73177	••••	ASTER EARLY BELIEVER PURPLE	0.500	\$25.00	0.500	\$25.00
23-73177	T3	ASTER EARLY DAYDREAM LAVENDER	0.500	\$25.00	0.500	\$25.00
23-74860		ASTER EARLY DAYS BLUE	0.500	\$25.00	0.500	\$25.00
23-74861		ASTER EARLY HAZY DARK PINK	0.500	\$25.00	0.500	\$25.00
23-77964	T3		0.500	\$25.00	0.500	\$25.00
23-77947	T3		0.500	\$25.00	0.500	\$25.00
23-77948	_	ASTER EARLY HENRY I PURPLE	0.500	\$25.00	0.500	\$25.00
23-76519	T3		0.500	\$25.00	0.500	\$25.00
23-73179		ASTER LATE HENRY III PURPLE	0.500	\$25.00	0.500	\$25.00
23-73181		ASTER LATE MARIE III DARK PINK	0.500	\$25.00	0.500	\$25.00
23-73063		ASTER LATE PETER III BLUE	0.500	\$25.00	0.500	\$25.00
23-77965	T3	ASTER VERY EARLY DRAGON (Bold Blue)	0.500	\$25.00	0.500	\$25.00
23-76521	T3	ASTER VERY EARLY MAGIC PINK	0.500	\$25.00	0.500	\$25.00
23-84334	T3	ASTER VERY EARLY MAGIC PURPLE	0.500	\$25.00	0.500	\$25.00
23-67275	T3	ASTER VERY EARLY PUFF WHITE	0.500	\$25.00	0.500	\$25.00
23-74993	T3	DENDRANTHEMUM COOL IGLOO (HARDY) (Raspberry Red Cushion) (Patented)	0.400	\$20.00	0.400	\$20.00
23-53237	T3		0.400	\$20.00	0.400	\$20.00
23-30169		DENDRANTHEMOM BAINT NEGO (MARDY) (Milk Batter)  DENDRANTHEMOM FIREDANCE IGLOO (HARDY) (Daisy)	0.400	\$20.00	0.400	\$20.00
23-84337	T3	, , , , , , , , , , , , , , , , , , , ,	0.400	\$20.00	0.400	\$20.00
23-74994	T3		0.400	\$20.00	0.400	\$20.00
23-55248		DENDRANTHEMOM FROST IGLOO (HARDY) (White Buplex) (Futerneu)	0.400	\$20.00	0.400	\$20.00
23-31197 *	T3	DENDRANTHEMOM HARVEST IGEOG (HARDY)  DENDRANTHEMOM ICE PINK IGLOO (HARDY)	0.400	\$20.00	0.400	\$20.00
23-84335	T3	DENDRANTHEMOM ICICLE IGLOO (HARDY) (White Daisy) (Patented)	0.400	\$20.00	0.400	\$20.00
23-84333	T3	DENDRANTHEMOM ICICEL IGEOG (HARDY) (Write Daisy) (Patented)  DENDRANTHEMUM PUMPKIN IGLOO (HARDY) (Orange/Bronze Daisy) (Patented)	0.400	\$20.00	0.400	\$20.00
23-86499	T3		0.400	\$20.00	0.400	\$20.00
23-84336	T3	DENDRANTHEMOM RADIANT IOLOG (HARDT) (Tellow Decorative) (Patented)  DENDRANTHEMOM SIZZLING IGLOG (HARDT) (Yellow Daisy) (Patented)	0.400	\$20.00	0.400	\$20.00
23-84530	T3	DENDRANTHEMOM SIZZEING IOLOG (HARDY) (Hellow Daisy) (Patented)  DENDRANTHEMOM SNOWY IGLOG (HARDY) (White Decorative) (Patented)	0.400	\$20.00	0.400	\$20.00
23-55254	T3	DENDRANTHEMOM SNOW FIGLOO (HARDY) (Write Decorative) (Patenteu)  DENDRANTHEMUM SUNDANCE IGLOO (HARDY) (Yellow Daisy)	0.400	\$20.00	0.400	\$20.00
23-72599		DENDRANTHEMOM SONDANCE IGEOG (HARDY) (Yellow Decorative) (Patented)	0.400	\$20.00	0.400	\$20.00
23-72600	T3	DENDRANTHEMOM SONNT IGLOO (HARDY) (Tellow Decorative) (Patented)  DENDRANTHEMOM WARM IGLOO (HARDY) (Orange/Bronze Cushion) (Patented)	0.400	\$20.00	0.400	\$20.00
23-72000	13	DENDRAINTHEIMOM WARM IGLOO (HARDT) (OTATIBE/ DIGITZE CUSTION) (Patentea)	0.400	\$20.00	0.400	\$20.00
Item# 23-74993-URCO	T3	, , , , , , , , , , , , , , , , , , , ,	Tray Description ROOTED CUTT	INGS 100		Price Tray \$26.30
23-53237-URCO	Т3		ROOTED CUTT	INGS 100		\$26.30
23-30169-URCO	T3	DENDRANTHEMUM FIREDANCE IGLOO (HARDY) (Daisy)	ROOTED CUTT	INGS 100	0.263	\$26.30
23-84337-URCO	Т3		ROOTED CUTT	INGS 100		\$26.30
23-74994-URCO	T3	DENDRANTHEMUM FROSTY IGLOO (HARDY) (White Duplex) (Patented)	ROOTED CUTT	INGS 100	0.263	\$26.30
23-55248-URCO	Т3	DENDRANTHEMUM HARVEST IGLOO (HARDY) (Dark Bronze Decorative)	ROOTED CUTT	INGS 100	0.263	\$26.30
23-31197-URCO *	T3	DENDRANTHEMUM ICE PINK IGLOO (HARDY)	ROOTED CUTT	INGS 100	0.263	\$26.30
23-84335-URCO	T3	DENDRANTHEMUM ICICLE IGLOO (HARDY) (White Daisy) (Patented) UNI	ROOTED CUTT	INGS 100	0.263	\$26.30
23-86498-URCO	T3	DENDRANTHEMUM PUMPKIN IGLOO (HARDY) (Orange/Bronze Daisy) (Patented) UNI	ROOTED CUTT	INGS 100	0.263	\$26.30
23-86499-URCO	T3	DENDRANTHEMUM RADIANT IGLOO (HARDY) (Yellow Decorative) (Patented) UNI	ROOTED CUTT	INGS 100	0.263	\$26.30
23-84336-URCO	Т3	DENDRANTHEMUM SIZZLING IGLOO (HARDY) (Yellow Daisy) (Patented)	ROOTED CUTT	INGS 100	0.263	\$26.30
23-86500-URCO	Т3	DENDRANTHEMUM SNOWY IGLOO (HARDY) (White Decorative) (Patented) UNI	ROOTED CUTT	INGS 100	0.263	\$26.30
23-55254-URCO	T3	DENDRANTHEMUM SUNDANCE IGLOO (HARDY) (Yellow Daisy)	ROOTED CUTT	INGS 100	0.263	\$26.30
23-72599-URCO	Т3	DENDRANTHEMUM SUNNY IGLOO (HARDY) (Yellow Decorative) (Patented) UNI	ROOTED CUTT	INGS 100	0.263	\$26.30
23-72600-URCO	T3	DENDRANTHEMUM WARM IGLOO (HARDY) (Orange/Bronze Cushion) (Patented) UNI	ROOTED CUTT	INGS 100	0.263	\$26.30



Item#	• • • • • • • • •	Variety	50 strip tray (DB) unpinched liners Each Tray	50 Pull & Pack (PNP rooted cuttings Each Tray
23-87781	T3 T3		0.400 \$20.00 0.400 \$20.00	
23-87793 23-87794	T3		0.400 \$20.00 0.400 \$20.00	
23-87801	T3	, ,	0.400 \$20.00	
23-87802	T3		0.400 \$20.00	
23-87804	T3		0.400 \$20.00	
23-78092	T3	MUM BRONZE 2 EARLY BELGIAN CONACO GOLD (Decorative)	0.400 \$20.00	0.400 \$20.00
23-78090	T3	MUM BRONZE 2 EARLY BELGIAN GIRONA ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
23-67681	T3	MUM BRONZE 2 EARLY MYSTIC EVENTIDE BRONZE (Decorative)	0.400 \$20.00	
23-87788	T3	MUM BRONZE 2 EARLY MYSTIC EVENTIDE DARK BRONZE (Decorative)	0.400 \$20.00	
23-84321	T3	MUM BRONZE 4 LATE BELGIAN AMIKO BRONZE (Decorative)	0.400 \$20.00	0.400 \$20.00
23-60613	T3	MUM BRONZE 4 LATE BELGIAN CENTO (Decorative)	0.400 \$20.00	0.400 \$20.00
3-87771	T3	, ,	0.400 \$20.00	
3-87772	T3	, ,	0.400 \$20.00	
3-85765	T3		0.400 \$20.00	0.400 \$20.00
3-31229	T3	,	0.400 \$20.00	0.400 \$20.00
3-61443	T3	, , ,	0.400 \$20.00	0.400 \$20.00
3-65635 3-87787	T3		0.400 \$20.00 0.400 \$20.00	0.400 \$20.00
3-87787 3-71487	T3 T3	, ,	0.400 \$20.00 0.400 \$20.00	0.400 \$20.00
3-71487 3-78105	T3	, ,	0.400 \$20.00	0.400 \$20.00
3-76105 3-77956	T3		0.400 \$20.00	0.400 \$20.00
3-82046	T3		0.400 \$20.00	0.400 \$20.00
3-73164	T3	, ,	0.400 \$20.00	0.400 \$20.00
3-84323	T3		0.400 \$20.00	0.400 \$20.00
3-85777	T3		0.400 \$20.00	0.400 \$20.00
3-80230	T3	MUM ORANGE 1 VERY EARLY BELGIAN MIKA ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
3-64836	T3	MUM ORANGE 1 VERY EARLY MYSTIC DAYBREAK ORANGE (Decorative)	0.400 \$20.00	·
3-31200	<b>*</b> T3	MUM ORANGE 1 VERY EARLY MYSTIC MAGNUM ORANGE (Decorative)	0.400 \$20.00	
3-76005	T3	MUM ORANGE 1 VERY EARLY MYSTIC MERIDIAN ORANGE (Decorative)	0.400 \$20.00	
3-31263	<b>*</b> T3	MUM ORANGE 1 VERY EARLY MYSTIC SUNBEAM APPLE CIDER	0.400 \$20.00	
3-31198	T3	MUM ORANGE 1 VERY EARLY YODER KEELEY ORANGE	0.400 \$20.00	0.400 \$20.00
3-71223	T3	MUM ORANGE 2 EARLY BELGIAN CONACO ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
3-78091	T3	MUM ORANGE 2 EARLY BELGIAN CONELLA ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
3-76499	T3	, ,	0.400 \$20.00	0.400 \$20.00
3-65644	T3		0.400 \$20.00	0.400 \$20.00
3-73163	T3		0.400 \$20.00	0.400 \$20.00
3-55253	T3	• • • • • • • • • • • • • • • • • • • •	0.400 \$20.00	0.400 \$20.00
3-74841	T3		0.400 \$20.00	0.400 \$20.00
3-67521	T3		0.400 \$20.00	0.400 \$20.00
3-61343	T3	, ,	0.400 \$20.00 0.400 \$20.00	0.400 \$20.00
3-80232	T3 	, ,		0.400 \$20.00
3-53500 3-77953	* T3	•	0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00
3-77933 3-76516	T3		0.400 \$20.00	0.400 \$20.00
3-82047	T3		0.400 \$20.00	0.400 \$20.00
3-67436	T3	• • •	0.400 \$20.00	0.400 \$20.00
3-77954	T3	` ,	0.400 \$20.00	0.400 \$20.00
3-87762	T3	• • • • • • • • • • • • • • • • • • • •	0.400 \$20.00	0.400 \$20.00
3-69865	T3		0.400 \$20.00	720.00
3-80105	T3	<u> </u>	0.400 \$20.00	0.400 \$20.00
3-87764	T3	, ,	0.400 \$20.00	0.400 \$20.00
3-67461	T3		0.400 \$20.00	0.400 \$20.00
3-82052	T3	MUM ORANGE 4 LATE YODER HAILEY ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
3-71489	T3	MUM ORANGE 4 LATE YODER MIRANDA ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
8-87765	T3	MUM ORANGE 5 EARLY SEASON EXTENDER BELGIAN JASODA ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
8-80237	T3	MUM ORANGE 5 EARLY SEASON EXTENDER BELGIAN STAVISKI ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
8-85775	T3	MUM ORANGE 5 EARLY SEASON EXTENDER MAKENNA ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
3-73168	T3	MUM ORANGE 5 EARLY SEASON EXTENDER YODER ASHLEY DARK ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
-67462	T3		0.400 \$20.00	0.400 \$20.00
3-53292	T3		0.400 \$20.00	0.400 \$20.00
3-78101	T3	` '	0.400 \$20.00	0.400 \$20.00
3-61440	T3		0.400 \$20.00	0.400 \$20.00
3-31218		MUM ORANGE 6 LATE SEASON EXTENDER YODER NIKKI ORANGE (Decorative)	0.400 \$20.00	0.400 \$20.00
3-85773	T3		0.400 \$20.00	0.400 \$20.00
3-60557	T3	, ,	0.400 \$20.00	0.400 \$20.00
3-31175	<b>☀</b> T3	MUM PINK 1 VERY EARLY MYSTIC DAYBREAK APPLEBLOSSOM INTENZ	0.400 \$20.00	

-	

Itam #	Tag	Variety	50 strip tray (DB) unpinched liners Each Tray	50 Pull & Pack (PNP) rooted cuttings
Item #	• • • • • • • • • •		• • • • • • • • • • • • • • • • • • • •	Each Tray
23-87779 23-87783	T3	MUM PINK 1 VERY EARLY MYSTIC DAYBREAK APPLEBLOSSOM (Decorative)  MUM PINK 1 VERY EARLY MYSTIC DAYBREAK PINK (Decorative)	0.400 \$20.00 0.400 \$20.00	
23-87763	* T3	, ,	0.400 \$20.00	
23-87795	— ₹ 13 T3	MUM PINK 1 VERY EARLY MYSTIC MERIDIAN DARK PINK (Decorative)	0.400 \$20.00	
23-53501	* T3	MUM PINK 1 VERY EARLY MYSTIC MERIDIAN PINK	0.400 \$20.00	
23-66796	T3	MUM PINK 1 VERY EARLY MYSTIC MERIDIAN PINK BICOLOR (Decorative)	0.400 \$20.00	
23-31210	* T3	MUM PINK 1 VERY EARLY MYSTIC MERIDIAN TRUE PINK	0.400 \$20.00	
23-52989	* № T3	MUM PINK 1 VERY EARLY MYSTIC SUNBEAM PINK	0.400 \$20.00	
23-87809	T3	MUM PINK 1 VERY EARLY MYSTIC SUNBEAM PINK BICOLOR (Decorative)	0.400 \$20.00	
23-87810	T3	MUM PINK 1 VERY EARLY MYSTIC SUNBEAM PINK YELLOW GLOW (Decorative)	0.400 \$20.00	
23-78093	T3	MUM PINK 2 EARLY BELGIAN AKILON PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-73157	T3	MUM PINK 2 EARLY BELGIAN DESTINO PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-74843	T3	MUM PINK 2 EARLY BELGIAN MORATO (Decorative)	0.400 \$20.00	0.400 \$20.00
23-60559	T3	MUM PINK 2 EARLY BELGIAN PADRE (Decorative)	0.400 \$20.00	0.400 \$20.00
23-87789	T3	MUM PINK 2 EARLY MYSTIC EVENTIDE DARK PINK (Decorative)	0.400 \$20.00	·
23-73172	T3	MUM PINK 2 EARLY YODER JACQUELINE PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-67522	T3	MUM PINK 3 MIDSEASON BELGIAN MILANO PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-77959	T3	MUM PINK 3 MIDSEASON YODER BETH VIOLET (Decorative)	0.400 \$20.00	0.400 \$20.00
23-84324	T3	MUM PINK 3 MIDSEASON YODER CHELSEY PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-82049	T3	MUM PINK 3 MIDSEASON YODER GIGI DARK PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-77957	T3	MUM PINK 3 MIDSEASON YODER MARSHA PINK (Daisy)	0.400 \$20.00	0.400 \$20.00
23-80222	T3	MUM PINK 3 MIDSEASON YODER URSULA LAVENDER (Decorative)	0.400 \$20.00	0.400 \$20.00
23-80227	T3	MUM PINK 4 LATE BELGIAN LATINA PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-87774	T3	MUM PINK 4 LATE MYSTIC AFTERGLOW PINK (Decorative)	0.400 \$20.00	
23-73167	T3	MUM PINK 4 LATE YODER ALISHA DARK PINK (Daisy)	0.400 \$20.00	0.400 \$20.00
23-67358	T3	MUM PINK 4 LATE YODER STACY PINK (Pink/White/Daisy)	0.400 \$20.00	0.400 \$20.00
23-80238	T3	MUM PINK 5 EARLY SEASON EXTENDER BELGIAN STAVISKI PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-67349	T3	MUM PINK 5 EARLY SEASON EXTENDER YODER CHERYL PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-67345	T3	MUM PINK 5 EARLY SEASON EXTENDER YODER CHERYL REGAL PURPLE (Decorative)	0.400 \$20.00	0.400 \$20.00
23-74871	T3	MUM PINK 5 EARLY SEASON EXTENDER YODER WANDA LAVENDER (Decorative)	0.400 \$20.00	0.400 \$20.00
23-80112	T3	MUM PINK 5 EARLY SEASON EXTENDER YODER WANDA PURPLE (Decorative)	0.400 \$20.00	0.400 \$20.00
23-31213	T3	MUM PINK 6 LATE SEASON EXTENDER YODER NIKKI DARK PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-31233	<b>≫</b> T3	MUM PINK 6 LATE SEASON EXTENDER YODER RHONDA PINK (Decorative)	0.400 \$20.00	0.400 \$20.00
23-80117	T3	MUM PURPLE 1 VERY EARLY BELGIAN ADIVA PURPLE (Decorative)	0.400 \$20.00	0.400 \$20.00
23-87785	T3	MUM PURPLE 1 VERY EARLY MYSTIC DAYBREAK PURPLE (Decorative)	0.400 \$20.00	
23-66790	T3	MUM PURPLE 1 VERY EARLY MYSTIC MERIDIAN CHERRY PURPLE (Burgundy Decorative)	0.400 \$20.00	
23-66792	T3	MUM PURPLE 1 VERY EARLY MYSTIC SUNBEAM AUBERGINE (Burgundy Decorative)	0.400 \$20.00	
23-87811	T3	MUM PURPLE 1 VERY EARLY MYSTIC SUNBEAM PURPLE (Decorative)	0.400 \$20.00	
23-31167	T3	MUM PURPLE 1 VERY EARLY YODER ARLETTE PURPLE (Decorative)	0.400 \$20.00	0.400 \$20.00
23-74839	T3	MUM PURPLE 2 EARLY BELGIAN GIRONA LILAC (PINK) (Decorative)	0.400 \$20.00	0.400 \$20.00
23-71227	T3	MUM PURPLE 2 EARLY BELGIAN POBO LAVENDER (Daisy)	0.400 \$20.00	0.400 \$20.00
23-80955		MUM PURPLE 2 EARLY MYSTIC EVENTIDE PURPLE (Decorative)	0.400 \$20.00	
23-76496	T3	MUM PURPLE 3 MIDSEASON BELGIAN AMIKO VIOLET (Decorative)	0.400 \$20.00	0.400 \$20.00
23-82056		MUM PURPLE 3 MIDSEASON BELGIAN MAGNUS VIOLET (Decorative)	0.400 \$20.00	0.400 \$20.00
23-84329		MUM PURPLE 3 MIDSEASON YODER DANIELLE PURPLE (Decorative)	0.400 \$20.00	0.400 \$20.00
23-85778		MUM PURPLE 3 MIDSEASON YODER PATTY PURPLE (Decorative)	0.400 \$20.00	0.400 \$20.00
23-60595		MUM PURPLE 4 LATE BELGIAN COPARO (Decorative)	0.400 \$20.00	0.400 \$20.00
23-80235		MUM PURPLE 4 LATE BELGIAN POMONA VIOLET (Decorative)	0.400 \$20.00	0.400 \$20.00
23-74845		MUM PURPLE 4 LATE BELGIAN REMOS LILAC (Decorative)	0.400 \$20.00	0.400 \$20.00
23-87775	T3	, ,	0.400 \$20.00	0.400 4
23-87767	T3	, ,	0.400 \$20.00	0.400 \$20.00
23-85772	T3		0.400 \$20.00	0.400 \$20.00
			0.400 000.00	
	T3	, ,	0.400 \$20.00	0.400 \$20.00
23-61441	T3	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)	0.400 \$20.00	0.400 \$20.00
23-61441 23-31236	T3 T3	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative) MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE	0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582	T3 T3 T3	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582 23-80226	T3 T3 T3	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582 23-80226 23-74900	T3 T3 T3 T3 T3	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)  MUM RED 1 VERY EARLY BELGIAN VEGA RED	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582 23-80226 23-74900 23-69855	T3 T3 T3 T3 T3 T3 T3 T3	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)  MUM RED 1 VERY EARLY BELGIAN VEGA RED  MUM RED 1 VERY EARLY MYSTIC DAYBREAK RED (Decorative)	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582 23-80226 23-74900 23-69855 23-87822	T3	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)  MUM RED 1 VERY EARLY BELGIAN VEGA RED  MUM RED 1 VERY EARLY MYSTIC DAYBREAK RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC DAYBREAK SOLAR FLARE (Red/Yellow Decorative)	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582 23-80226 23-74900 23-69855 23-87822 23-87796	T3	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)  MUM RED 1 VERY EARLY BELGIAN VEGA RED  MUM RED 1 VERY EARLY MYSTIC DAYBREAK RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC DAYBREAK SOLAR FLARE (Red/Yellow Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DARK RED (Button)	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582 23-80226 23-74900 23-69855 23-87822 23-87796 23-87820	T3 T	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)  MUM RED 1 VERY EARLY BELGIAN VEGA RED  MUM RED 1 VERY EARLY MYSTIC DAYBREAK RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC DAYBREAK SOLAR FLARE (Red/Yellow Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DARK RED (Button)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DEEP RED (Decorative)	0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582 23-80226 23-74900 23-69855 23-87822 23-87796 23-87820 23-87798	T3 T	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)  MUM RED 1 VERY EARLY BELGIAN VEGA RED  MUM RED 1 VERY EARLY MYSTIC DAYBREAK RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC DAYBREAK SOLAR FLARE (Red/Yellow Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DARK RED (Button)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DEEP RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN RED (Decorative)	0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582 23-80226 23-74900 23-69855 23-87822 23-87796 23-87820 23-87798 23-31282	T3 T	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)  MUM RED 1 VERY EARLY BELGIAN VEGA RED  MUM RED 1 VERY EARLY MYSTIC DAYBREAK RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC DAYBREAK SOLAR FLARE (Red/Yellow Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DARK RED (Button)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DEEP RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC SUNBEAM CHILI RED	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-61441 23-31236 23-60582 23-80226 23-74900 23-69855 23-87822 23-87796 23-877820 23-87798 23-31282 23-87805	T3 T	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)  MUM RED 1 VERY EARLY BELGIAN VEGA RED  MUM RED 1 VERY EARLY MYSTIC DAYBREAK RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC DAYBREAK SOLAR FLARE (Red/Yellow Decorative)  MUM RED 1 VERY EARLY MYSTIC DAYBREAK SOLAR FLARE (Button)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DARK RED (Button)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DEEP RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC SUNBEAM CHILI RED  MUM RED 1 VERY EARLY MYSTIC SUNBEAM DARK RED (Decorative)	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00
23-82053 23-61441 23-31236 23-60582 23-80226 23-74900 23-69855 23-87822 23-87796 23-87820 23-87798 23-31282 23-87805 23-66776 23-87812	T3 T	MUM PURPLE 6 LATE SEASON EXTENDER BELGIAN VIGORELLI VIOLET (Decorative)  MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE  MUM RED 1 VERY EARLY BELGIAN CAMINA (Decorative)  MUM RED 1 VERY EARLY BELGIAN GRANATA RED (Decorative)  MUM RED 1 VERY EARLY BELGIAN VEGA RED  MUM RED 1 VERY EARLY MYSTIC DAYBREAK RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC DAYBREAK SOLAR FLARE (Red/Yellow Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DARK RED (Button)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN DEEP RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC MERIDIAN RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC SUNBEAM CHILI RED  MUM RED 1 VERY EARLY MYSTIC SUNBEAM DARK RED (Decorative)  MUM RED 1 VERY EARLY MYSTIC SUNBEAM DARK RED (Decorative)	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00	0.400 \$20.00 0.400 \$20.00 0.400 \$20.00 0.400 \$20.00



Item #	• • • • • •	Variety	Each	p tray (DB) thed liners n Tray	rooted Each	Pack (PNP cuttings Tray
23-80104	T3	MUM RED 1 VERY EARLY YODER AIDEEN RED FIRE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-73169	T3		0.400	\$20.00 \$20.00	0.400	\$20.00 \$20.00
23-78106 23-74844	T3 T3	MUM RED 2 EARLY BELGIAN AMADORA RED (Decorative)  MUM RED 2 EARLY BELGIAN PADRE CERISE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-74644 23-71236	T3	MUM RED 2 EARLY BELGIAN PADRE CERISE (DECORATIVE)	0.400	\$20.00	0.400	\$20.00
23-71230	T3	MUM RED 2 EARLY BELGIAN PIZARRA RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-60544	T3	MUM RED 2 EARLY BELGIAN FOR RED BRONZE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-67353	T3	MUM RED 2 EARLY YODER HELEN MAROON (Decorative)	0.400	\$20.00	0.400	\$20.00
23-60583	T3	MUM RED 3 MIDSEASON BELGIAN SAVONA (Decorative)	0.400	\$20.00	0.400	\$20.00
23-84330	T3	MUM RED 3 MIDSEASON YODER DANIELLE RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-80109	T3	MUM RED 3 MIDSEASON YODER HESTIA HOT RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-31227	Т3	MUM RED 3 MIDSEASON YODER PATTY POMEGRANATE	0.400	\$20.00	0.400	\$20.00
23-73156	T3	MUM RED 4 LATE BELGIAN COLINA RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-60653	Т3	MUM RED 4 LATE BELGIAN GALATINO (Burgundy/Red Decorative)	0.400	\$20.00	0.400	\$20.00
23-82054	T3	MUM RED 4 LATE BELGIAN LAVA RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-80234	T3	MUM RED 4 LATE BELGIAN PAVIA RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-87776	T3	MUM RED 4 LATE MYSTIC AFTERGLOW RED (Decorative)	0.400	\$20.00		
23-67423	T3	MUM RED 4 LATE YODER BRANDI BURGUNDY (Decorative)	0.400	\$20.00	0.400	\$20.00
23-31174	T3	MUM RED 4 LATE YODER CHRISTINA RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-80107	T3	MUM RED 4 LATE YODER EDANA RED (Daisy)	0.400	\$20.00	0.400	\$20.00
23-67438	T3	MUM RED 4 LATE YODER TABITHA SCARLET (Decorative)	0.400	\$20.00	0.400	\$20.00
23-87768	T3	MUM RED 5 EARLY SEASON EXTENDER BELGIAN JASODA RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-85767	T3	MUM RED 5 EARLY SEASON EXTENDER BELGIAN STAVISKI RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-87815	T3	MUM RED 5 EARLY SEASON EXTENDER BELGIAN THERA RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-31169	T3	MUM RED 5 EARLY SEASON EXTENDER YODER ASHLEY RED	0.400	\$20.00	0.400	\$20.00
23-61442	T3	MUM RED 5 EARLY SEASON EXTENDER YODER EMELDA RED (Semi-Decorative)	0.400	\$20.00	0.400	\$20.00
23-73174	T3	MUM RED 5 EARLY SEASON EXTENDER YODER JOLLY CHERYL RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-67335	T3	MUM RED 5 EARLY SEASON EXTENDER YODER RAQUEL RUBY RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-84333	T3	MUM RED 5 EARLY SEASON EXTENDER YODER WANDA RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-76497	T3	MUM RED 6 LATE SEASON EXTENDER BELGIAN CONTIKI RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-82055	T3	MUM RED 6 LATE SEASON EXTENDER YODER KATHLEEN DARK RED (Decorative)	0.400	\$20.00	0.400	\$20.00
23-31238	T3	MUM RED 6 LATE SEASON EXTENDER YODER RHONDA RED	0.400	\$20.00	0.400	\$20.00
23-31248	T3	MUM WHITE 6 LATE SEASON EXTENDER YODER RHONDA WHITE	0.400	\$20.00	0.400	\$20.00
23-80228	T3	MUM WHITE 1 VERY EARLY BELGIAN LESCONIL WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-87784 23-87799	T3 T3	MUM WHITE 1 VERY EARLY MYSTIC DAYBREAK PURE WHITE (Decorative)  MUM WHITE 1 VERY EARLY MYSTIC MERIDIAN WHITE (Decorative)	0.400	\$20.00 \$20.00		
23-87799 23-87821	T3	MUM WHITE 1 VERY EARLY MYSTIC SUNBEAM WHITE (Decorative)	0.400	\$20.00		
23-87021	T3	` '	0.400	\$20.00	0.400	\$20.00
23-87814	T3	MUM WHITE 1 VERY EARLY YODER SHANNON WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-84332	T3	, ,	0.400	\$20.00	0.400	\$20.00
23-82059	T3	MUM WHITE 2 EARLY BELGIAN MARGO WHITE (Daisy)	0.400	\$20.00	0.400	\$20.00
23-67524		MUM WHITE 2 EARLY BELGIAN PADRE WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-63709	T3	· · · · · ·	0.400	\$20.00	0.400	\$20.00
23-78096		MUM WHITE 2 EARLY BELGIAN ROSALBA WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-67683	T3	MUM WHITE 2 EARLY MYSTIC EVENTIDE CREAM WHITE (Decorative)	0.400	\$20.00		
23-87791	T3	MUM WHITE 2 EARLY MYSTIC EVENTIDE WHITE (Decorative)	0.400	\$20.00		
23-76498	T3	MUM WHITE 3 MIDSEASON BELGIAN ALUGA WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-78097	T3	MUM WHITE 3 MIDSEASON BELGIAN ESPERO WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-65643	T3	MUM WHITE 3 MIDSEASON BELGIAN MILANO WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-82060	T3	MUM WHITE 3 MIDSEASON YODER BERTHA WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-84325	T3	MUM WHITE 3 MIDSEASON YODER CHELSEY WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
23-82048	T3	MUM WHITE 3 MIDSEASON YODER GIGI SNOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-77952	T3	MUM WHITE 3 MIDSEASON YODER JACQUELINE PEARL (Decorative)	0.400	\$20.00	0.400	\$20.00
23-74870	T3	·	0.400	\$20.00	0.400	\$20.00
23-64461	T3	MUM WHITE 4 LATE BELGIAN AMIKO WHITE (Decorative)	0.400	\$20.00	0.400	\$20.00
3-87777	T3		0.400	\$20.00		
3-73060	T3		0.400	\$20.00	0.400	\$20.00
3-87769	T3	· · · · · · · · · · · · · · · · · · ·	0.400	\$20.00	0.400	\$20.00
23-80239	T3	, ,	0.400	\$20.00	0.400	\$20.00
23-77950	T3		0.400	\$20.00	0.400	\$20.00
23-85776	T3		0.400	\$20.00	0.400	\$20.00
23-64552	T3	, ,	0.400	\$20.00	0.400	\$20.00
23-76512	T3	, ,	0.400	\$20.00	0.400	\$20.00
	T3	MUM YELLOW 1 VERY EARLY BELGIAN SINELLI YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-80236		AND A VELLOW A VEDVEADLY ANGLE DAY DESCRIPTION (*** )		¢20.00		
23-80236 23-87780 23-87782	T3	MUM YELLOW 1 VERY EARLY MYSTIC DAYBREAK BRIGHT YELLOW (Decorative)  MUM YELLOW 1 VERY EARLY MYSTIC DAYBREAK DARK YELLOW (Decorative)	0.400 0.400	\$20.00 \$20.00		

Item #	Tag Rule Variety	unpind	p tray (DB) thed liners n Tray	rooted	Pack (PNP) cuttings Tray
•••••	• • • • • • • • • • • • • • • • • • • •			Lacii	· · · · · · · · · · · · · · · · · · ·
23-87806	T3 MUM YELLOW 1 VERY EARLY MYSTIC SUNBEAM GOLDEN (Decorative)	0.400	\$20.00		
23-87813	T3 MUM YELLOW 1 VERY EARLY MYSTIC SUNBEAM YELLOW (Decorative)	0.400	\$20.00		+
23-85766	T3 MUM YELLOW 1 VERY EARLY YODER BRITTANY YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-80108	T3 MUM YELLOW 1 VERY EARLY YODER ELECTRA AMBER (Decorative)	0.400	\$20.00	0.400	\$20.00
23-71481	T3 MUM YELLOW 1 VERY EARLY YODER MICHELLE GOLD (Daisy)	0.400	\$20.00	0.400	\$20.00
23-64460	T3 MUM YELLOW 2 EARLY BELGIAN AKILON GOLD (Decorative)	0.400	\$20.00	0.400	\$20.00
23-78098	T3 MUM YELLOW 2 EARLY BELGIAN ALLEGRA YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-80224	T3 MUM YELLOW 2 EARLY BELGIAN ATLANTICO YELLOW (Daisy)	0.400	\$20.00	0.400	\$20.00
23-71233	T3 MUM YELLOW 2 EARLY BELGIAN CONACO YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-65647	T3 MUM YELLOW 2 EARLY BELGIAN PADRE YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-60528	T3 MUM YELLOW 2 EARLY BELGIAN URANO YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-87790	T3 MUM YELLOW 2 EARLY MYSTIC EVENTIDE LEMON (Decorative)	0.400	\$20.00		
23-80956	T3 MUM YELLOW 2 EARLY MYSTIC EVENTIDE SUNSET (Decorative)	0.400	\$20.00		
23-87792	T3 MUM YELLOW 2 EARLY MYSTIC EVENTIDE YELLOW (Decorative)	0.400	\$20.00		
23-60551	T3 MUM YELLOW 3 MIDSEASON BELGIAN CESARO (Decorative)	0.400	\$20.00	0.400	\$20.00
23-82062	T3 MUM YELLOW 3 MIDSEASON BELGIAN CONELLA YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-84331	T3 MUM YELLOW 3 MIDSEASON BELGIAN ESPERO YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-80229	T3 MUM YELLOW 3 MIDSEASON BELGIAN MALMO YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-82061	T3 MUM YELLOW 3 MIDSEASON BELGIAN MATADOR YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-71234	T3 MUM YELLOW 3 MIDSEASON BELGIAN MILANO YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-77955	T3 MUM YELLOW 3 MIDSEASON YODER BERNADETTE YELLOW (Anemone)	0.400	\$20.00	0.400	\$20.00
23-84326	T3 MUM YELLOW 3 MIDSEASON YODER CHELSEY YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-71480	T3 MUM YELLOW 3 MIDSEASON YODER DAWN YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-74863	T3 MUM YELLOW 3 MIDSEASON YODER ELENA GOLD (Decorative)	0.400	\$20.00	0.400	\$20.00
23-74866	T3 MUM YELLOW 3 MIDSEASON YODER GIGI GOLD (Decorative)	0.400	\$20.00	0.400	\$20.00
23-82050	T3 MUM YELLOW 3 MIDSEASON YODER GIGI YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-77963	T3 MUM YELLOW 3 MIDSEASON YODER JACQUELINE YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-82063	T3 MUM YELLOW 3 MIDSEASON YODER OLGA YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-67411	T3 MUM YELLOW 3 MIDSEASON YODER SUNNY URSULA (Decorative)	0.400	\$20.00	0.400	\$20.00
23-76517	T3 MUM YELLOW 3 MIDSEASON YODER YOLANDA YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-84319	T3 MUM YELLOW 4 LATE BELGIAN ALUGA YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-84320	T3 MUM YELLOW 4 LATE BELGIAN AMIKO YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-82064	T3 MUM YELLOW 4 LATE BELGIAN VERITAS YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-87773	T3 MUM YELLOW 4 LATE MYSTIC AFTERGLOW GOLDEN (Decorative)	0.400	\$20.00		
23-87778	T3 MUM YELLOW 4 LATE MYSTIC AFTERGLOW YELLOW (Decorative)	0.400	\$20.00		
23-71479	T3 MUM YELLOW 4 LATE YODER HANKIE YELLOW (Daisy)	0.400	\$20.00	0.400	\$20.00
23-67343	T3 MUM YELLOW 4 LATE YODER MARY YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-67391	T3 MUM YELLOW 4 LATE YODER OKRA (Decorative)	0.400	\$20.00	0.400	\$20.00
23-74867	T3 MUM YELLOW 4 LATE YODER SUNNY MONICA (Anemone)	0.400	\$20.00	0.400	\$20.00
23-77958	T3 MUM YELLOW 4 LATE YODER WILMA YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-87770	T3 MUM YELLOW 5 EARLY SEASON EXTENDER BELGIAN JASODA YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-82051	T3 MUM YELLOW 5 EARLY SEASON EXTENDER BELGIAN STAVISKI YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-71476	T3 MUM YELLOW 5 EARLY SEASON EXTENDER YODER BETHANY YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-73061	T3 MUM YELLOW 5 EARLY SEASON EXTENDER YODER CHERYL SPARKLING YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-67424	T3 MUM YELLOW 5 EARLY SEASON EXTENDER YODER GOLDEN CHERYL (Decorative)	0.400	\$20.00	0.400	\$20.00
23-85774	T3 MUM YELLOW 5 EARLY SEASON EXTENDER YODER MAKAYLA YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-60631	T3 MUM YELLOW 6 LATE SEASON EXTENDER BELGIAN DARK VERIA (Decorative)	0.400	\$20.00	0.400	\$20.00
23-80231	T3 MUM YELLOW 6 LATE SEASON EXTENDER BELGIAN MOURIA YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-80111	T3 MUM YELLOW 6 LATE SEASON EXTENDER YODER MILDRED YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-31224	T3 MUM YELLOW 6 LATE SEASON EXTENDER YODER NIKKI YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
23-31262	T3 MUM YELLOW 6 LATE SEASON EXTENDER YODER RHONDA YELLOW	0.400	\$20.00	0.400	\$20.00
23-61444	T3 MUM YELLOW 6 LATE SEASON EXTENDER YODER STEPHANY YELLOW (Decorative)	0.400	\$20.00	0.400	\$20.00
-	· · · · · · · · · · · · · · · · · · ·				

## **POT MUMS**

23-80216-PNK       T4       MUM FLEURETTE ADELLE (White/Spoon)       ROOTED PULL 'N PACK       96       0.535       \$51.36         23-80220-PNK       T4       MUM FLEURETTE CHANTAL HOT RED (Red Daisy)       ROOTED PULL 'N PACK       96       0.535       \$51.36         23-80219-PNK       T4       MUM FLEURETTE FIFI HOT PINK (Pink Daisy)       ROOTED PULL 'N PACK       96       0.535       \$51.36         23-87893-PNK       T4       MUM FLEURETTE GENEVIEVE PURPLE BICOLOR       ROOTED PULL 'N PACK       96       0.535       \$51.36         23-80212-PNK       T4       MUM FLEURETTE LISETTE (Bright Yellow Daisy)       ROOTED PULL 'N PACK       96       0.535       \$51.36         23-87892-PNK       T4       MUM FLEURETTE SABINE BRONZE Daisy)       ROOTED PULL 'N PACK       96       0.535       \$51.36         23-80212-PNK       T4       MUM FLEURETTE SYLVIE WHITE (Daisy)       ROOTED PULL 'N PACK       96       0.535       \$51.36         23-80114-PNK       T4       MUM POT APPLE VALLEY (Pink/Lavender/Daisy)       ROOTED PULL 'N PACK       96       0.535       \$51.36         23-80116-PNK       T4       MUM POT AIRLIPIN OPANGE (Orange Daisy)       ROOTED PULL 'N PACK       96       0.535       \$51.36	Item#	Tag Rule Variety	Tray Description	Tray Count	Price Each	Price Tray
23-80219-PNK         T4         MUM FLEURETTE FIFI HOT PINK (Pink Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-87893-PNK         T4         MUM FLEURETTE GENEVIEVE PURPLE BICOLOR         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80212-PNK         T4         MUM FLEURETTE LISETTE (Bright Yellow Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80218-PNK         T4         MUM FLEURETTE LUCIENNE YELLOW (Yellow Duplex Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-87892-PNK         T4         MUM FLEURETTE SABINE BRONZE Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80221-PNK         T4         MUM FLEURETTE SYLVIE WHITE (Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80114-PNK         T4         MUM POT APPLE VALLEY (Pink/Lavender/Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36	23-80216-PNK	T4 MUM FLEURETTE ADELLE (White/Spoon)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87893-PNK         T4         MUM FLEURETTE GENEVIEVE PURPLE BICOLOR         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80212-PNK         T4         MUM FLEURETTE LISETTE (Bright Yellow Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80218-PNK         T4         MUM FLEURETTE LUCIENNE YELLOW (Yellow Duplex Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-87892-PNK         T4         MUM FLEURETTE SABINE BRONZE Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-8021-PNK         T4         MUM FLEURETTE SYLVIE WHITE (Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80114-PNK         T4         MUM POT APPLE VALLEY (Pink/Lavender/Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36	23-80220-PNK	T4 MUM FLEURETTE CHANTAL HOT RED (Red Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80212-PNK         T4         MUM FLEURETTE LISETTE (Bright Yellow Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80218-PNK         T4         MUM FLEURETTE LUCIENNE YELLOW (Yellow Duplex Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-87892-PNK         T4         MUM FLEURETTE SABINE BRONZE Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80221-PNK         T4         MUM FLEURETTE SYLVIE WHITE (Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80114-PNK         T4         MUM POT APPLE VALLEY (Pink/Lavender/Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36	23-80219-PNK	T4 MUM FLEURETTE FIFI HOT PINK (Pink Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80218-PNK         T4         MUM FLEURETTE LUCIENNE YELLOW (Yellow Duplex Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-87892-PNK         T4         MUM FLEURETTE SABINE BRONZE Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80221-PNK         T4         MUM FLEURETTE SYLVIE WHITE (Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80114-PNK         T4         MUM POT APPLE VALLEY (Pink/Lavender/Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36	23-87893-PNK	T4 MUM FLEURETTE GENEVIEVE PURPLE BICOLOR	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87892-PNK         T4         MUM FLEURETTE SABINE BRONZE Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80221-PNK         T4         MUM FLEURETTE SYLVIE WHITE (Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80114-PNK         T4         MUM POT APPLE VALLEY (Pink/Lavender/Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36	23-80212-PNK	T4 MUM FLEURETTE LISETTE (Bright Yellow Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80221-PNK         T4         MUM FLEURETTE SYLVIE WHITE (Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36           23-80114-PNK         T4         MUM POT APPLE VALLEY (Pink/Lavender/Daisy)         ROOTED PULL 'N PACK         96         0.535         \$51.36	23-80218-PNK	T4 MUM FLEURETTE LUCIENNE YELLOW (Yellow Duplex Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80114-PNK T4 MUM POT APPLE VALLEY (Pink/Lavender/Daisy) ROOTED PULL 'N PACK 96 0.535 \$51.36	23-87892-PNK	T4 MUM FLEURETTE SABINE BRONZE Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
	23-80221-PNK	T4 MUM FLEURETTE SYLVIE WHITE (Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23_80116_PNK T/ MIIM POT ALIBLIPN OPANICE (Orange Daisy)	23-80114-PNK	T4 MUM POT APPLE VALLEY (Pink/Lavender/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
25 OUTTO FIRE 114 MONTE OF AUDUKN OKANICE (Grange Daisy)	23-80116-PNK	T4 MUM POT AUBURN ORANGE (Orange Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36



Item#	Tag Rule	Variety	Tray Description	Tray Count	Price Each	Price Tray
23-80168-PNK			• • • • • • • • • • • • • • • • • • • •	• • • • •	• • • • • • •	
23-80168-PNK 23-74935-PNK	T4	MUM POT AUBURN RED (Red Daisy)  MUM POT BATON ROUGE (Red Bicolor/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36 \$51.36
23-80199-PNK	T4	, ,,,	ROOTED PULL 'N PACK ROOTED PULL 'N PACK	96 96	0.535	\$51.36
23-80115-PNK	T4	MUM POT BLUSH APRICOT (Coral/Salmon Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80113-FNK 23-80129-PNK	T4	MUM POT BLUSH DARK PINK (Pink/Lavender Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80159-PNK	T4	MUM POT BLUSH ORANGE (Orange/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80163-PNK	T4	MUM POT BLUSH PINK (Pink/Lavender/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80183-PNK	T4	MUM POT BLUSH SUNNY (Yellow Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80189-PNK	T4	MUM POT BLUSH WHITE (White Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80191-PNK	T4	MUM POT BLUSH YELLOW (Yellow Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80119-PNK	T4	MUM POT BRIGHTON (Yellow Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80120-PNK	T4	MUM POT BRUNSWICK (White/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80121-PNK	T4	MUM POT BUTTERFIELD (Yellow Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80122-PNK	T4	MUM POT CHATHAM DARK PINK (Pink/Lavender/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80160-PNK	T4	MUM POT CHATHAM ORANGE (Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80123-PNK	T4	MUM POT CHESAPEAKE (Yellow/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87872-PNK	T4	MUM POT CHINA DOLL (Red/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80485-PNK *	T4	MUM POT CHOWCHILLA YELLOW (Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80942-PNK *	T4	MUM POT CLEARVIEW WHITE (Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80125-PNK	T4	MUM POT COVINGTON (Yellow/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80133-PNK	T4	MUM POT DEEP PRESIDO (Pink/Lavender/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80134-PNK	T4	MUM POT DELANO (Purple/Burgundy Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80169-PNK	T4	MUM POT DELANO RED (Red/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80182-PNK	T4	MUM POT DELANO SPRING PINK BICOLOR (Lavender/White/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87873-PNK	T4	MUM POT DURANGO BRONZE (Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80196-PNK	T4	MUM POT DURANGO HONEY (Yellow/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80203-PNK	T4	MUM POT DURANGO YELLOW (Yellow/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80197-PNK	T4	MUM POT EMPORIA GOLDEN (Yellow/Daisy Spoon)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87874-PNK	T4	MUM POT EMPORIA ORANGE (Orange/Bronze/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80135-PNK	T4	MUM POT ENCINO (Red/Anemone/Spoon)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80136-PNK	T4	MUM POT ESSEX (Purple Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80943-PNK *	T4	MUM POT ESTES PARK PURPLE BICOLOR	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-64673-PNK	T4	MUM POT FAIRBANKS PURPLE (Purple Spoon)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80139-PNK	T4	MUM POT FIRE ISLAND (Red/Yellow Bicolor/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80141-PNK	T4	MUM POT GOLDEN GATE (Yellow/Decorative Incurve)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87876-PNK	T4	MUM POT GRANDVIEW LIGHT PINK (Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-64333-PNK	T4	MUM POT GRANDVIEW PINK (Pink Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80143-PNK	T4	MUM POT GREEN VALLEY (Green/Anemone)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87877-PNK	T4	MUM POT HILO FUSCHIA (Purple/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80202-PNK	T4		ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87878-PNK		MUM POT HILO TANGERINE (Orange/Bronze/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80145-PNK 23-80146-PNK		MUM POT HOLLISTER (Yellow/Daisy)  MUM POT HUDSON BAY (Red/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36 \$51.36
23-80140-PNK 23-80127-PNK		MUM POT IRVINE CURRANT (Coral/Salmon/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80127-PNK 23-80170-PNK	T4	· • •	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80170-PNK 23-80172-PNK	T4		ROOTED PULL 'N PACK ROOTED PULL 'N PACK	96 96	0.535	\$51.36
23-80172 FNK		MUM POT JAMESTOWN REGAL (Purple/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80173-FNK 23-80148-PNK	T4	MUM POT JUNEAU (White/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80149-PNK	T4	MUM POT KEY LARGO (Yellow/Anemone)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80150-PNK	T4		ROOTED PULL 'N PACK	96	0.535	\$51.36
23-82128-PNK *	T4		ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80201-PNK	T4		ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87879-PNK	T4	,	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80155-PNK		MUM POT MANHATTAN (Yellow/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-64457-PNK	T4	·	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-64341-PNK	T4		ROOTED PULL 'N PACK	96	0.535	\$51.36
23-64345-PNK	T4		ROOTED PULL 'N PACK	96	0.535	\$51.36
23-64455-PNK	T4		ROOTED PULL 'N PACK	96	0.535	\$51.36
23-64456-PNK	T4	MUM POT MILTON PINK BICOLOR	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80118-PNK	T4	MUM POT NEW YORK BOLD LAVENDER (Pink/Lavender/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80132-PNK	T4	MUM POT NEW YORK DAZZLING YELLOW (Yellow/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-64458-PNK	T4	MUM POT NEWARK PINK BICOLOR	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87880-PNK	T4	MUM POT NEWPORT BRONZE (Bicolor Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80157-PNK	T4		ROOTED PULL 'N PACK	96	0.535	\$51.36
23-64459-PNK		MUM POT OAKVILLE YELLOW (Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80158-PNK	T4	MUM POT OLYMPIA (White/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80161-PNK	T4	MUM POT OTTAWA (White/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36



Item#	Tag Rule	· Variety	Tray Description	Tray Count	Price Each	Price Tray
23-87881-PNK	T4	MUM POT OUTRAGEOUS RED (Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80162-PNK	T4	MUM POT PELEE (Bronze/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80198-PNK	T4	MUM POT PITTSBURGH PURPLE (Purple/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80165-PNK	T4	MUM POT POINT PELEE (Red/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80166-PNK	T4	MUM POT PROVIDENCE (Yellow/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80195-PNK	T4	MUM POT PUEBLO CINNAMON (Orange/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80167-PNK	T4	MUM POT PUEBLO ORANGE (Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87883-PNK	T4	MUM POT PUEBLO YELLOW	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87882-PNK	T4	MUM POT PURPLE SPRINGS (Anemone Spoon)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87884-PNK	T4	MUM POT RED SPRINGS (Anemone)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80175-PNK	T4	MUM POT RENO (Bronze/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87871-PNK	T4	MUM POT ROANOKE DARK PINK (Pink/Lavender/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80176-PNK	T4	MUM POT ROANOKE PINK (Pink/Lavender/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80177-PNK	T4	MUM POT ROCKPORT (Purple/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80178-PNK	T4	MUM POT SANTA CRUZ (Red/Yellow/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80206-PNK	T4	MUM POT SASKATOON WHITE (White/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87891-PNK	T4	MUM POT SEASIDE WHITE (White/Quill)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80205-PNK	T4	MUM POT SHANGHAI (Red/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80179-PNK	T4	MUM POT SHASTA (White/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-82930-PNK	<b>*</b> T4	MUM POT SPRINGDALE PURPLE	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-87887-PNK	T4	MUM POT STARLING PINK (Pink/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80185-PNK	T4	MUM POT TOBAGO (Red/Decorative)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-80188-PNK	T4	MUM POT VYRON (Yellow/Daisy)	ROOTED PULL 'N PACK	96	0.535	\$51.36
23-69866-PNK	T4	MUM POT WILLIAMSBURG PURPLE	ROOTED PULL 'N PACK	96	0.535	\$51.36



Shipping Season: Jan 1 - Dec 25 Fleurette & Pot Mums

> Apr 24 - Aug 7 Pull & Pack Garden & Igloo Mums & Asters Apr 24 - Aug 7 50-strip Garden & Igloo Mums & Asters

Mar 6 - Aug 7 Unrooted Igloo Mums

Shipping restrictions: Packing & Minimum Order Information:

Asters, Garden Mums, Igloo Mums cannot ship to CA. Garden Mums, Igloo Mums cannot ship to Canada.

50 strip (1/2 of a 102 tray) rooted liners For Asters, Garden Mum, & Igloo varieties

Pack per box: 100 Order minimum:

Rooted Pull & Pack (50/bundle) rooted cuttings

For Asters, Garden Mum & Igloo varieties

Pack per box: 500 Order minimum: 500

Rooted Pull & Pack (96/bundle) rooted cuttings

For Fleurette & Pot varieties

Pack per box: Order minimum: 480

Igloo Mum (100/bundle) unrooted cuttings

Pack per box: 2,000 2,000 Order minimum:

The 50 strip trays can be combined with Greenleaf Perennial orders to meet the minimum requirement for truck

delivery.

Orders under \$300 are welcome, please note they will be subject to a \$19.75 processing fee.

Freight Charges: Freight will be added to the invoice.

Ship Methods: Federal Express, Grower Truck, Customer Pick-up

Unrooted cuttings will ship Federal Express Priority only

F.O.B.: Smoketown, PA for 50-strips & Alva, FL for Pull & Pack & Unrooted Lead Time:

5 week lead time for all Pull & Pack and 50/strip rooted liners

1 week lead time for unrooted Igloo Mums

Box/Other Charges: Included in the price of the plants.

Patents & Royalties: All mum varieties are patented. Royalties are included in the price of the plants.

Tags are available upon request for Garden Mum & Aster at 5¢ each.

T3 = Tag available on request Tag Rules:

T4 = Tag not available

Discounts: 12% Early Order Discount for all orders placed by March 10, 2017.

After March 10: 5% Early Order Discount for all orders placed 12 weeks in advance of ship date.

Claims: Must be reported to Germania Seed Company within 48 hours after receiving plants.

Photos are requested to aid in assessing claims when possible.

All shipments should be accepted from the carrier regardless of the condition.

If damage is apparent, please call us immediately.

Cancellations: Please, no cancellations can be accepted once plants are in production. Green Leaf reserves the right to charge a

50% restocking fee for any material cancelled after production has begun.